
Today four kids earned some money by delivering hundreds of papers. Which kid is the owner of the silver bike?

1. Exactly one of the kids has the same initial in their name

and in the color of their bike.

2. The kid on the silver bike delivered exactly as many

newspapers as 100 times his/her age. Nobody else did.

3. Brian delivered 100 less newspapers than the kid with the

purple bike.

4. The kid on the black bike is 10 or 13 years old.

5. Sandra is either 12 or has the silver bike.

6. The kid who delivered 1100 newspapers is one year

younger than Sandra.

7. The owner of the purple bike delivered 1200 newspapers or

is 12 years old. However, this kid is not 11.

8. One of the girls owns the green bike, the other girl delivered

1000 newspapers.

9. The 13-year-old kid didn't deliver 1000 newspapers.

10. If George is 11, then Brian is 10.
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Today four kids earned some money by delivering hundreds of papers. Which kid is the owner of the silver bike?

1. Exactly one of the kids has the same initial in their name

and in the color of their bike.

2. The kid on the silver bike delivered exactly as many

newspapers as 100 times his/her age. Nobody else did.

3. Brian delivered 100 less newspapers than the kid with the

purple bike.

4. The kid on the black bike is 10 or 13 years old.

5. Sandra is either 12 or has the silver bike.

6. The kid who delivered 1100 newspapers is one year

younger than Sandra.

7. The owner of the purple bike delivered 1200 newspapers or

is 12 years old. However, this kid is not 11.

8. One of the girls owns the green bike, the other girl delivered

1000 newspapers.

9. The 13-year-old kid didn't deliver 1000 newspapers.

10. If George is 11, then Brian is 10.
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